200	Sion.	Approved by project manager	Remarks: work completed		9.	×	7.	6,		'n		4	છ	2	-	No.	SI	WO date	WO no.	Block no.	riojecvstic	Designation
		ject manager	ompleted							CIATI MOLV	المراج ال					no	Unit/floor			gvdc	GVONE	crescentia
Sign:	Approved by Qs team	A purposed by October		Grand total			1st, 2nd and 3rd cross bracing chipping	ground floor cross brasing chipping	(Triple bedroom flats with 2 bathrooms, kitchen, utility)	callelena both washroom cpvc and pvc pipe line connections	eco drain bitings	iami hurveasung eco drain pipe	roin borocotine	hina fitting	hane cureing line	A IVIN	Details of work	A TOTAL OF THE PROPERTY OF THE	Work done from the	Work done from date	Nature of work	Name of contractor
					1	-	u (	3	-		40	590	50	381		Qty		-		- Branch B	nhimhing	nadeem
						Ioo	100	no's	no's	9	no's	rft	no's	ずスまた		Units	G	5	2	- 1	2	S
Sign.	Approved by Director/E&D team								PB103		MIS132	MIS135	MIS102	MISI01		Rate ID	GST bill required?	WO isgued ?	M-codex bill ID.	Dr. Sic office 168.	t gite hills and	Sl. No. site bills reg.
	:tor/E&D team					2000	2000	2000	15,500		40	24	75	13		Rate						
			63,260			6000	6000		15500		1600	14160	3750	4953		Amount					14	140

Date:
| Sign: | Sign:

Pescription   Quantity   Units   Rate   Amount   Item Head Total			
on Quantity Units Rate Amount 13 4953 250 no's 75 3750 15500 lility)  Quantity Units Rate Amount 13 4953 275 275 275 275 275 275 2750 275 275 2750 275 275 275 2750 275 275 275 275 275 275 275 275 275 275	1st,2nd and 3rd floor chipping forcroass brasseing	chipping work	
Quantity     Units     Rate     Amount       381     rmt     13     4953       50     no's     75     3750       590     rft     24     14160       40     no's     40     1600       pvc line (Triple     1     no's     15500     15500	glound floor cross bracing north, south side		
Quantity         Units         Rate         Amount           381         rmt         13         4953           50         no's         75         3750           590         rft         24         14160           connections and pyc line (Triple         1         no's         15500         15500			
Quantity     Units     Rate     Amount       381     rmt     13     4953       50     no's     75     3750       590     rft     24     14160       40     no's     40     1600       1     no's     15500     15500	bedroom flats with 2 bathrooms, kitchen, utility)		
Quantity     Units     Rate     Amount       381     rmt     13     4953       50     no's     75     3750       590     rft     24     14160       40     no's     40     1600       0     0     0	washbasin conection water line oht to cafeteria cpvc line (Triple	plumbing fittings	
Quantity   Units   Rate   Amount			_
Quantity Units Rate Amount   13			
Quantity Units Rate Amount   13	eco drain pipe fittings	narvesting pils	
Quantity         Units         Rate         Amount           381         rmt         13         4953           50         no's         75         3750	Rain harvesting pits 6inch eco drain pipe		
Quantity         Units         Rate         Amount           381         rmt         13         4953           50         no's         75         3750			
Prion Quantity Units Rate Amount 381 rmt 13 4953	hdpc line fittings	nabe enterns une	
Quantity Units Rate Amount	hdpe line for gardening cureing purpose	hdan amaina lina	
	ead Item Description	Item Head	S No.
	01-12-2023		Date:
	sultan		Prepared By
	Nadeem		Contractor:
	plumber	tion:	Work Description:
Sign:	GV1		Project:
Approved by: subba reddy	crecentia	ne:	Company Name:
		HEET	ESTIMATE SHEET

.

1								
MEASUREMENT SHEET	SHEET				5			
Company Name:	crecentia				A	Approved by:	y:	subba reddy
Project:	GV1					Sign:		
Work Description:	civil work				8			
Contractor:	nadeem							
Prepared By	sultan							
Date:	01-12-2023							
			Α	В	С	D	E	Ŧ
S No.		Item Description	Length	Width	Height	Nos	Quantity	Units
		hdpe line for gardening cureing purpose	381	1	_		381	Rmt
		Gi ball valve	1	1	1	10	10	No's
	hdpe cureing line	Gi elbow	1	1	1	10	10	No's
		Gi nipple	1	1	1	20	20	No's
		Gi Tee	1	1	1	10	10	No's
		Rain harvesting pits 6inch eco drain pipe	590	1	1	1	590	Rft
•	Language	eco drain Tee	14	1	_	-	14	No's
	narvesung pils	eco drain 45bend	20	1	,_	_	20	No's
		eco drain pipe	6	1	,_	-	6	No's
		cafeteria both washroom cpvc and pvc pipe line						
	plumbing fittings	connections and washbasin conection water	2	1	1	_	2	No's
		line oht to cafeteria cpvc line						
	1.	glound floor cross bracing north, south and lobb	w	1	1	ယ	u	No's
	cmpping work	1st,2nd and 3rd floor chipping forcroass brasscii	w	1	1	3	3	No's

## Allowance for consumable

Nadeem mallapur. Hyderabad.

Date: 29.01.2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

**GV ONE** 

Location:

Genome Valley, Turkapally

Type of Work:

Civil work.

Towards:

Allowance for consumable.

	Description	Amount
S No.	Description	
1.	Brief description of work done: Towards gvdc	Rs: 12,652 /-
1.	plumbing work	Rs: 12,0327
	Total Amount = Rs: 63,260/-	
	Total Amount - Rs. 03,200/-	
	Work done from date 24.09.2023 to date 12.01.2024.	

Amount in words-: twelve thousand six hundred fifty two Rupees only.

Sign:	
21511.	

## Allowance for Equipment

Nadeem mallapur. Hyderabad.

Date: 29.01.2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

**GV ONE** 

Location:

Genome Valley, Turkapally

Type of Work: plumbing work.

Towards:

Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards Civil work Total Amount = Rs: 63,260/-	Rs: 25,304 /-
	Work done from date 24.09.2023 to date 12.01.2024.	10. 20,00 17

Amount in words-: Twenty five thousand three hundred four Rupees only.

## Allowance for Labour charges

Nadcem mallapur. Hyderabad.

Date: 29.01.2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

**GV ONE** 

Location:

Genome Valley, Turkapally

Type of Work: plumbing work.

**Towards:** 

Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards Civil work Total Amount = Rs: 63,260/-	Rs: 25,304 /-
	Work done from date 24.09.2023 to date 12.01.2024.	

Amount in words-: Twenty five thousand three hundred four Rupees only.